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Q.1 #=r & 715 wa S (Problem figure) T 1T IX 3cax fsredt (Answer
figures) & fa=ir wer & wieafega §1 sa=T & e ©fF (Problem figure)
foma o g5 7

Problem Figure

1T

Answer Figures

ol

A B c D

The below problem figure is embedded in one of the four answer figures. Which of the
following figures contain the problem figure?

Problem Figure

1.7

Answer Figures

ol

A B C D

Ans .!(1_[)
2. B
3. A
4. C

Q2 23_ [24-{25- (26- 27 — 28)}] =7
23 - [24-{25- (26 - 27 — 28)}] =7

Ans 1.1
2.3
Vi3 -1
4.-2
Q.3
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few 1w wafte S F IUR W EEeYd 4% o

£,

R
Y / : Pony

Select the missing term based on the given related pair.

Ans 1. Child
« 2 caterpillar

3. Kitten

4. Larva

Q4 gfE tan*d + tan?6 = 2 B A sec*d - sec?6 =?
Iftan*8 + tan®@ = 2, then sec*f - sec?8 =7
Ans ,f 1. 2
2.1
3.0
4.3
Q.5 769 Fr ofdr sme 3 w@E & 122 F fenfog & T wEEm H e i
g 792

A sum of T 69 was divided between Jason and Ruhana in the ratio 1 : 2. How much money
did Ruhana get?

ans 1.Z40
2 45

3 323

v+ T46

Q6 g @ 37 ;M@ FeRRT T &1 vl st w=ar

Es, ved, el

Which of the following Venn diagrams correctly represents the following classes:

Eagle, bird, cat
Ans
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Q)0

Q7 37 T TR F TS W, S AT 37 HRE@ F AT

CQ9

Select the correct set that represents the following Venn diagram.

002
e e, T, RIfET He
Music, sports, educated people
_ I, fewes, ame
Dancers, teacher, cows
| T, T, aRar
Mother. father, family
, oo, f@ellr, s
Cat, toys, girl

v

Q.8 gumAd A F 1. TS g FAH H ow A F HAERT 375
TRTHA TINF & FFa §, $0 3¢ Fi9 T A6 IF T g fa@rar aww
&

The statue of Dr APJ Abdul Kalam that was unveiled at his Rameswaram memorial by
Prime Minister Modi depicts him playing which musical instrument?

Ans GEC)
;

- Tabla
HeqT

-3
Mridangam

It

3!
Violin
W 4 fToT
Veena
Q9 = ¥ B 7 O ST ST THAT & 3R 7 & e A I Fhar ¥2

‘Which of the following can neither be created nor be destroyed?

Ans ZT%

Al
Momentum

AT
Energy

5 IED
Power
CEll

4
"elocity

"
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Q.10 afr e ‘MEAT & fFEr TR (Ael) FT ae F¢7 e AR 9+ e
(FTEE) Y ST JUIAETST & oo 3R 98 foar Aar § & 0 A o
T AT 3R H A TAF W H TAF Aed H FA T IR ITART HFA g
TR HERT arer fhae 3T oreg AT S w82

If each of the vowels in the word ‘MEAT" is kept unchanged and each of the consonants is
replaced by the previous letter in the English alphabet, how many four-lettered meaningful
words can be formed with the new letters, using each letter only once in each word?

Ans 1.1
2. 4

V3

4.2

M giyer 1 ERfRE ¥ Fla ar g

The chemical formula of Propane 1s:
Ans 1. C; Hg
W 2 C;Hg
3.CH,
4. C4Hyg

Q12 & ¢ FafOT S ¥ uR W Rea T §13

GULF : 519104 :: WINE :
Fill in the blank based on the given related pair.

GULF : 519104 :: WINE :

Ang 1. 217321
v 2217123
3.217132
4.217124

Q.13 T & AT & Haraes HT 3IANT 30T AT 3 et & @ e F T &

fore 18t frar T ERaT 7

Which of the following indicators CANNOT be used for distinguishing between acidic
and neutral solutions?

A :
" YAategREHR

Universal indicator

Hrterma e

W2

Phenolphthalein

3. ¥ 3R
Methyl orange
4 LEL
Eosin

Q.14
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TG TEGT THFYT W AR H AR 57 R | qq” F Fw e aw
TRt #F ¥ He g sedtted 87

aH/FY:

FIHRT & AT &5 F BT wrer F & a7 sl F ey odt afEae aee
Fr A= 7 B

TEUROA:

1. %% NfFaar
2. TTHR =g & T amador st & st @ dgen TR i e

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:

The government had planned to conduct special recruitment drives for doctors twice a
year for rural districts.

Assumptions:

1. There are more vacancies.
2. The government wants the rural people to get good health care.

e b RN 1 st B

Only assumption 1 is implicit.

2.
o & qEuReT 1 AR a1 & JEuReT 2 seatatea gl
Neither 1 nor 2 is implicit.
 Tos qeumon 2 st @

Only assumption 2 is implicit.
| A R sreafafea @

Both 1 and 2 are implicit.

v

Q.15 g5 DI A BIET TEAT AT FITSIT S 20, 25, 35 TAT 40 I TSI el W AW Haver:
14,19, 29 3 34 FTAT I

Find the least number which when divided by 20, 25, 35 and 40 leaves remainder 14, 19,
29 and 34 respectively?

Ans 1 1364
2.1384
13.1374

v 4 1394

Q16 Prfaf@a Fua & Fats 39gFd FFeT & a1 qor

T STHNY FT gHAT & TH grar 2l

Complete the following sentence with the most appropriate option.

A disease always has

Ans Sraror

a cause
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4.
a doctor

Q.17 A= o sz & fFaa 00 3w § oo 8% wgd & oo ¢ 3t &=
g F v R &7

Q@A3RI4+6T4W402°E$6S

How many such numbers are present in the below arrangement which are immediately
preceded by a consonant and immediately followed by a letter?

Q@A3RI4*6TAW402"E$6S
Ans
v ar
Two
Tk
2.
One
3
Four
4
Three
Q18 Rt % afdher 43 7 & 0T 1 39ART fRaT ST §
The characteristic of is used in the breaking pads of cars.

A

ne Wm‘rmarmmm

positive effect of friction
| ENOT & T T

zero effect of friction
cr) TG S deA1g 7 fohar

weight impulse force tension action

4aﬁwa;rmqma

negative effect of friction

Q.19 e o v AREa aifd & 120 fardlidey @r g &1 amr wsfea & &1 afe
gg & e 2 fFairdier ol aifa & asfFa g O 38 39 IideT a%
TgEa 3 6 1 A#0F Ty e e A areas # sfee fhaw
frelielier wfa ue & 7fg & =ems?

Kishan cycled a distance of 120 km at a certain speed. If he cycled 2 km slower every
hour, he would have taken 3 more hours to reach his destination. What is the speed in
km/h at which Kishan actually cycled?

Ans 112
v'210

3. 8
+15

Q.20

For More details, visit : www.10pointer.com



A of fF e Rt 3 & 90F & TEAT v GA Yoo HT AER0T S
£, 39 ReeT & 99 A A T C # Ry aiv wa Rear (?) & g6 Thar
gl

A B

Assuming that the numbers in each of the following figures follow a similar pattern, select
the option that can replace the question mark (?) in figure C.

(20| 9/ 24| 11 7|18

NI NEZN
Ans 137

2115

3. 26
v+ 36

Q.21—mq¥%ﬂm%?

is amphoteric in nature.
Ans  of 1. ZnO
2.N,0
3.Ca0
4. 50,

Q.22 ey TGS & Tedeh s[o T TS 25 Hiex AR ve BT & aEs 14
Fex B TAegss 1 A hd F §?

The length of each side of a rhombus is 25 m and the length of one of its diagonals is 14
m. Find the area of the rhombus.

Ans v 336 T #Arex
336 m?

, 350997 #Hrex
350 m?

, 175 39 AT
175 m?

, 1681 #eT

168 m?

.23
255 +4 - (3+2-1+3)}=2
25-2{5+4— (3+2-1+3)}=?
Ans 1. 22
2. 21
3.23
v 424
Q24 of ‘v, v @ afa g, VR W, X Fr g g, Y, X o oafa g Ay,
‘U ]
If ‘U’ is the husband of “V’, 'V’ and ‘W~ are daughters of ‘X’, ‘Y” is the husband of ‘X,

then “Y” is the of ‘U
For More details, visit : www.10pointer.com



Ans gq.lé.

1.
Brother

HE{
2 °

Father-in-law

2T

3
Son

o

4.
Father

Q.25 oy & @ 5@ o1g T T GEAN FHA § FET AG ST Tl § 2
‘Which of the following metals CANNOT be easily cut with a knife?

Ans TegHIETH
vi °

Aluminium

s

2
Lithium
Potassium

mfzar

4.
Sodium
Q.26 7fy; farefr g Zamr o i 978 g o &, A awg w1 Fawuree e g

If the distance travelled by an object is zero, then the displacement of the object:

Ans TATCHS
h [

is positive
o= &Y off TRl &, 7T &)

may or may not be zero

AT
i3 ©

is Zero
EIREED

is negative

Q.27 Aiger 1 a=tet 40 Tohellane & our ag 10 Qs & 50 @fear 9 s & afy
g WEr T FErs 15 AT @ ar Ag Fr o Fw 32
(g = 10 M AT T VFE)

Mohan, having a mass of 40 kg, runs up a staircase of 50 steps in 10 s. If the height of
each step is 15 cm, then what is his power?
(Take g = 10 m/s?)

Ans , 400 are
400 W
72 300 are
300 W
" 200 T
200w
# 100 €
100 W
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Q-28 gifoefier awq &1 AfdeT Foi1 (KE) frd R foneR &t 82
‘What does the kinetic energy (KE) of a moving body depend upon?
Ans 1 aoieT 31 SThr T
| Weight and its position
, G 3R aar
Mass and velocity
, GeIHeT 3R c@aRor
Mass and acceleration
, S 3R s T

Mass and 1ts position

v

Q.29 FFET 3T At 3 Feat F1 g 9 : 5 ¥ e TR 1 Hew A F AT ET 4,200
¥ 3 &, I Al 1 e A RS H)

The prices of chairs and tables are in the ratio of 9 : 5. If the chairs cost ¥ 4200 more than
the tables, Find the price of the tables?(in )

Ans 1. 6730
v 2 5250
3. 5000
4. 6200
Q.30 RE 71T Fod W LAIESH fAaR F AR Fa¢ & s@er 3R = F e
rafaiae Fuet § ¥ SiF T
FeT F e o1F Al T 82
YA
1. Faer asfEFar aais Qerdr
2. F&T & 20 wsfrar sk 15 w=F &

Consider the given question and decide which of the following statements is sufficient to
answer the question.

How many students in the class play Chess?

Statements:
1. Only girls play Chess.
2. There are 20 girls and 15 boys in the class.

e et w1 AR e 2 T aE Y

Neither statement 1 nor 2 is sufficient
5

mmzm%mmm1m%

Statement 2 alone is sufficient while statement 1 alone is insufficient
oo P 3 FuaT 2 St gateg &

Both statement 1 and 2 are sufficient
4.
FaoT FUT 1 AT § T Fae FUA 2 AT §
Statement 1 alone is sufficient while statement 2 alone is insufficient
Q31 e T gT X A5 F 5w wER i T @ 82
What is the type of Energy possessed by a stretched rubber band?

" Chemical energy

For More details, visit : www.10pointer.com



, Tt Far
Kinetic energy

, Tefosr ==
Potential energy
. FSHT FaT
W 4
Thermal energy

Q.32 v sART & MY @ vek @ F N 31T 918 &5 Seeraet 3R 3awHT Fior wAR: 60°
3T 300 &1 afE sARa & = 5 AT &, ar ey Fr FaE A Al

From the top of a building, the angles of elevation and depression of top and bottom of a
tower are 60°and 30° respectively. If the height of the building is 5m,then the height of the
tower is:

Ans 1.104/3m
v 2 20m

3. 5\/{§’m
4.15m

4% Aol #1 39gFd faweT & @ 9 H|

529 : 441 :: 961:

Complete the following with an appropriate option.

520 :441 :: 961 :
Ans il 835
2. 822
3. 814
v 4 841

Q34 g7 3 siisTet TEVT A E, 3HH 9 g% FT T 0 H T B &

Some of the energy derived from the food we eat is stored in the form of:

Ans m
v

Glycogen
3 HATAT 317
Amino acids

QR

5
Glucose

) qISSTaeh 35T
Pyruvic acid

Q.35
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e & =18 o & FaT 10 F AT AR T Hr AvAE @R wEa
e & ST A AT O & 30T T AT

I H A FA Y FA T AT A 9 @ arer et v G

gfaera &2

aRoma TSI | S8
ks T

et afremsit & o @ | 28 23

e Rreafendt # g

borey

Aegrater afieT 7 Hor 14 12
AfF Tt gfew & aw
it & o w@=
Aegater gfiem F 97 6 17
AfFT Tara afiem F For
Rreanfidt & o w&=
3=t afremait F orw @ | 64 55
arer et #r o

|Ear

The table gives the details of the number of students in Class 10 section A and B who had
taken mid-term and final exams.

What is the pass percentage in at least one of the two exams for section A (approximately
or rounded)?

Result Sec A Sec B
Total number of students who | 28 23
failed in both exams
Total number of students who | 14 12
failed in mid-term but passed
in finals

Total number of students who |6 17
passed in mid-term but failed
in finals

Total number of students who | 64 55
passed in both the exams

Ans o 1 75
2. 80
3. 65
4. 70

Q.36 2016 #, e ¥ 3% B AR TF A TG "THALINE, TEEF AT
et famam | 5w 3carg $r ey ypfa = 87

In 2016, the State Bank of India launched a new product called ‘SBI Exclusif’. What is the
financial nature of this product?

Ans AT

1.
Insurance

| et ST st
Recurring Deposit Scheme

| O g

Wealth Management
FIIHST F5 HT JerHw

v

4
Mutual Fund Offering

Q.37 s o7 F uror R GwoT % T g AL AT TS TS @ HieT &
TEEET 39 AT T JAX FLar 27

‘Which part of the female reproductive system prepares itself every month to receive and
nurture the growing child?

1 3712 T (Ovary)
Ovary

Ans

For More details, visit : www.10pointer.com



, I@ifr (Vagina)
Vagina

s s Aar (Cervix)
Cervix

, e (Uterus)

Uterus

v

Q.38 el 0¥ AR & iRty Fr g, orme 2V wenaa 3R @ e S g,
dR & ATETH T HE & g9 1A 2

What will be the resistance of a wire across which, when 2V potential difference is
applied, 1A current flows through the wire?

Ans
o 2 R
2 Ohms
, 0.02 EHA

0.02 Ohms
, 20 HEHR

20 Ohms
, 0.5 3EA

0.5 Ohms

% gyt ¥ e @ gElF TiRT Aar
Which hormone is released from the testes?

An
s (méu-m%ﬂ?r

Testosterone
2 E e |
Insulin
Estrogen
4
Thyroxin

2

Q.40 T 71T Fer W far &Y 3@k I 97 # F Feeet § @ a9 @@ o+ e v
FUA F THETT T T AT B

HYe:
7o Fi3 A% §, W A7 a0w §1 $T a0w FOR

s
1. FoTaa@ HI g
2. FTFTR AT
Consider the given statements to be true and decide which of the conclusions logically

follow(s) from the given statements.

Statements:
Some crows are peacocks, all peacocks are ducks. Some ducks are pigeons.

Conclusions:
1. Some ducks are crows.
2. Some pigeons are peacocks.

Ans i)

For More details, visit : www.10pointer.com



T & FHY 1 @ AT 2 FFWOT FA g

Either conclusion 1 or 2 follows.

WW&ZWW%I

Only conclusion 2 follows.
| 2t forserst 13X 2 3eFEROT FIAT B

Both conclusions 1 and 2 follow.

Fael sy 1 3TTEIT FLaT g
4
Only conclusion 1 follows.

Q.41 7fx AB 9ur § oF f&T 7T IR 3caX fskedt (Answer figures) & & oy & a8
T TE 90T oY gRAT

Problem Figure

t

Answer qures

From the given four answer figures choose the correct mirror image of the below figure
when the mirror is on AB line.

Problem Figure

E

Answer Flgures

A
Ans J1D
2 C
3B
4. A
Q.42 2016 & Flar = FEr frew 9feg BrMe Fech IRER & aafs siad W

ey 2
Which 2016 Hindi film is based on the real life of the famous Phogat wrestling family?

Ans 2F|?1T~I"=|1?.' g TsfeeT

Man231 Pandey : The Rising
Hodlel

B =

Sultan
CICICIES

3.
Bodyguard

v 4
Dangal

Q.43
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ARAT A & T Aol Aeatead # ¥ i W FUe F T&T FrEw
arftrerdr (el &7

India-born Satya Nadella is the Chief Executive Officer (CEO) of which of the following
companies?

Ans m‘-’
v
Microsoft
THAA

2.
Amazon

g

3.
Dell

aldTel

4 LY
Google

Q.44 v FragdT oF forms R & e sud FAE F S ¢, F e
T S & HAS F T gl AF a0 A F et Fv wgea F=w g2

The volume of a right circular cone, whose radius of the base is same as its altitude, and
the volume of a sphere are equal. The ratio of the radius of the cone to the radius of the
sphere is:

Ans 1_‘\/‘2:1
21 1
vii4:1
+3/3:12

Q.45 fe; gfaardir ague (k — 1)x? + kx + 1 971 e e -3 §, 0l k 0 HIel T 12
If one of the zeros of the quadratic polynomial (k — 1)x? + kx + 1 is -3 then the value of

k=
Ans 1 —_2
3

2

v2:

g 3

3 4

3
4. 24

3

AR A AF-T-SAET I TATIAT FHr o
founded Din-e- Ilahi.
Ans W
Babur

o
Rahim
HEr=E
Aurangzeb
Hehell

g
Akbar

Q47 ofg 17 AT FIR FT e T772 &, A 9 HeX F92 1 7 (w2 F) T P

If the cost of 17 m of cloth is T 77 g, Find its cost per meter (in rupees)?
Ans - 5
X1 4=
7
4
v 2 4-

7
For More details, visit : www.10pointer.com



A
r
4.5E
7

Q.48 2r 9137 A 3R B UF T vH @ ¥ @ 8 uE # oW & ¥ vk @i ger
9SSl @ A F & & 2T & a1G Afg ST B FH a9 T feA; A A AW
% # s F 1169 o ST 1 IRT A 3R TRl & Y e wEw & @
R Em?

Pipes A and B, when working together, can fill an empty tank in 8 hours. If B is stopped
after 2 hours, it will take a total of 11 hours to fill the tank. How long would it take A to
fill the empty tank alone?

e 1BER
| 13 hours
oo 12 T
12 hours
,leue
16 hours
, 159
15 hours

Q.49 5% W camgEw faam w¥ v fokr # & susd 9 & % Fiawr g
fafea 2/

T

T <fiTere & Tord TR F deshrel T F Tl Regmear & v Feaw
T §C T T IR e g

AT

2

1. fMTIET Tk Talg dF AN I Tehahl 2l
2. RfaT Fra-Rar 3w T==t #1 T ToaE F g o T a9 J@ S+

Consider the argument and decide which of the given assumptions is/are implicit

Argument:

With immediate effect, the government asked to shut down all the schools for one week in
the region due to severe cold wave.

Assumptions:

1. The cold wave may continue for one week.
2. Concerned parents may not allow their children to attend the school after one week
also.

A 1 ik 2 = AT &

Both 1 and 2 are implicit

ZHFfﬂaﬂrsr?rzﬁ-T%H%

Neither 1 nor 2 is implicit
Faer A= 2 AT
3.
Only assumption 2 is implicit

4m34§ﬂm1ﬁ1%?-r%

Only assumption 1 is implicit

v

Q.50
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T &I 4 B 3 240 Frelleliet ot oor a0 Thcl €1 af s arer ¥ 12 freliofiex
afd Her &1 T S e €, ar 450 FRate 1 gl a7 ) F FR fhder gHE A9

A Car can cover 350km in 4 hours. If its speed is decreased by 12 % kmph. how much time
does the car take to cover a distance of 450km

Ans sde

1
5 hours

& 7HC
7 hours
s 6 €
6 hours
. 16¢

4 hours

Q.51 BT & T FAT FT 8% ey T T184 F =Ml 3/ 5% T Iod A &
orT Fwater F raw & swar wifge ar

Shiv sold a shirt for T184 at a loss of 8%. To make a profit of 5% he should have sold the
shirt for:

Ans 1.3200
2.%3207.92

3. %3197

v %210

Q52 1 - 5 % 3T T GRS F HY GRATAT T Tehell &2

The ratio 1 : 5 can be expressed in decimal as:
Ans 1. 0.02
2.01
V'3 02
4.05
Q.53 v wHaTg PRI ABC #1 8T 6 BT B T 1 HEH s aren o ged
Pper & iy RFat & 1o &1 g3 3. A g & % o faeg #r sy
3T T FaTg Rger @

ABC is an equilateral triangle of side 6cm. If a circle of radius 1 cm is moving inside and

along the sides of the triangle, then the locus of the centre of the circle is an equilateral
triangle of side is:

Ans 1. (3 - \/?_:) cm
3 (6 — 2«/5) cm
3. 5¢cm

4. 4¢Ccm

Q.54 wrhifaaer diut @t Traforaa 7 8 fhe §6g # W@ g?
Amphibian plants are placed in which of the following groups?

Ans SerprEer

1.
Thallophyta

3 :
Pteridophyta

3 ;
Gymnosperms

For More details, visit : www.10pointer.com



Bryophyta
Q.55 3yferes 3Tad @ROM F deat B cHEE R TER A S § 2

How are elements arranged in the Modern Periodic Table?

4

Ans Al
3T ILAY] HEAT & TGd HH A

In the increasing order of their Atomic Number

o
AT AU GTATH & Sed &H &

In the increasing order of their Molecular Mass

" 3T ILAY] SSTAT & FGd HH A
J 3.

In the increasing order of their Atomic Mass
4

3T FGeTATT TEAT & 9od FH H

In the increasing order of their Mass Number

Q.56 faer dor F wrer 3R gl & F g 4090 B AR 7 3R A e A dor A
anffer & @ o, & @ 3R gX e 1 A A 506 g e gl dor 7
In a bag, the ratio of red balls to green balls is 4 : 9. If 7 more red balls are added to the

bag, the ratio of red balls to green balls will become 5 : 6. How many green balls are there
in the bag?

Ans 1. 12
2. 27

3.9

v 418

Q.57 wadr 2018 &, fr eIl & tod 9es fsar T iy & #1979 g2
As of February 2018, who is the coach of Rio Olympics silver medal winner PV Sindhu?

Ans
| Tom fase
Vikram Bisht
Telel dirdree
R
Pullela Gopichand

| T qGehRITT
Prakash Padukone

, HEAT 37l
Akhtar Ali

Q.58 HIf3TH FEIA Fraleic & IRA gl W oot W A & HiT & 7 gedr 82

Which of the following gases is liberated when Sodium Hydrogen Carbonate is heated?

Ane . Tl SSHFEES
Carbon Dioxide

| T AT

Carbon Monoxide
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EEIEC]

3
Hydrogen
) L) r

| Oxygen

Q.59 v ofg #H+2.0D @ AFT & |1 oW I FEA I sHH Bpd A
el

A lens has a power + 2.0 D. The type of lens and its focal length willbe
Ans | 3T, 0.5 HreX

| concave, —0.5m
, 3cddl, — 0.5 HIeX

convex, —0.5m

. 3cdd, 0.5 HIeX

| convex, 0.5m
, FEad, 0.5 AT

concave, 0.5 m

v

Q60 fmfaf@a Bl & & #i Ty & & & vahed 30T 2

o [AQAN [
A B C D
Select the figure that does NOT belong in the following group.

o3| QN[
A B C D
Ans 1l D
2B
v3C
4 A
Q.61 afy SPOON =t 3127 PLATE, PLATE T 312F BOWL, BOWL &7 3% GLASS
3T GLASS @ 31 SPOON g, af 9=t @iy & fore &ar s9dieTr & omar siar
Y

If SPOON means PLATE, PLATE means BOWL, BOWL means GLASS and GLASS
means SPOON, then what is used to drink water?

Ans 1 PLATE
2 GLASS
v : SPOON

4 BOWL

Q62 =y & erear H forwer Taw gEU F @ 87
‘Which of the following words does NOT belong with the others?

Ans 1 AF

| Shukra
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erdt

Dharti
3. L
Brihaspati
, e
Shani

W2

Q.63 2017 #F W gl TREAT FT Fr ATEEA Fl § TREAE w@T 7 Fr oA
‘Which Asian city hosted the 2017 Men’s Hockey Asia Cup?
Ans m
¥, 2
Singapore

ZW

Teheran

4.
Tokyo
4842017 # A3 F AR F T H @ v I §2

‘Who has been elected as the mayor of Mumbai in 2017?

Ans 1%313#

Smita Thackeray
, BT TS
Sanjay Raut
, 38T B
Uddhav Thackeray
. ey AgrReEyT
Vishwanath Mahadeshwar

v

Q.ssmawﬁ%1,%53#:%10%:1%@:%1ugmaﬁgtr%ﬁ,%ssﬁr%w
& o s wEr & €, o Ay & F g uw T 368 § o & F Ryt B
T W el 87

A bag contains coins of denomination ¥ 1, ¥ 5 and T 10. Assuming there are equal number
0f ¥ 1,3 5 and T 10 coins, what will the total number of coins in the bag be if the total
money is T 3687

Ans 1. 96
2. 65
3. 56
v 4 69
Q.66 A 2018 & HYF T=w AN & fafesq Tl TR smaeT (Th.dar) @
HETET T ARAT-IAR &2

‘Which Indian-American is the chairman of the prestigious Federal Communications
Commission (FCC) of the United States as of March 2018?

Ans
A3

Neomi Rao

For More details, visit : www.10pointer.com



, AT FAT

Seema Verma
. Awfag 9z
Ajit Pai
, el G|

Neil Chatterjee

v

Q.67mmmaﬁmm§vwm$ﬁvﬁ=mﬁfﬁmmﬁm
o sy e ST wenar B

YA

M, IIT 3T ISC & J@ Teue & fwow a o & fewr # A ok
T ¥ 30 I Fear g

forsay:

1. 9 & Fulert @ fager & Fufeat & a9 a0t spEae T AR
2. 5T TEAS & T & &R J )W A%k o9 & S AR

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statements:

Students passing from premier institutions such as IIM, IIT and IISC get placed in foreign
countries and receive more salary than they received in India.

Conclusions:

1. Companies in India should pay the same salary as companies in foreign countries.
2. Students from these institutions should be barred from going to foreign countries.

Ans . 3R 2 T IFEWT B &
Both 1 and 2 follow

o, T IR & 2 seEor e &

Neither 1 nor 2 follows

et Ty 1 HTEROT AT &
3.
Only conclusion 1 follows

o TTHY 2 HTEIOT HAT &

Only conclusion 2 follows

FS

Q.69

For More details, visit : www.10pointer.com



Eirayicd T |ITB

b

3t afemat F |28 |23
FHeeehor g
e For
freanfiat
FEr
¥ & 14 |12
FHeedor AT
T gffem &
3cdioT @ arer
faeanfaat #r
=
s & 6 17
Scciot aifeser
e freT &
Heedor gt
arer Rt
& w@E
At afremait & |64 |55
3cdioT @ arer
faeanfiat Hr
FeEar

&r 1§ TRl F&T 10 & T A Fur 79 B ¥ it @ fRewor g
? oria el andarf¥s qur affe ol & 3

T B & gt qlematt (s qwr ¥ A ¥ FH A FA  H
ST @Y arer RiganfEat #r wfeeT g

Result Secti | Secti
onA | onB
Total number of | 28 23
students who
failed in both the
exams

Number of 14 12
students who
failed in the
midterm but
passed in the
final exam
Number of 6 17
students who
passed in the
midterm but
failed in the final
exam

Number of 64 55
students who
passed in both
the exams

The given table provides the details of the number of students in Class 10, Section A an
B, who had taken their midterm and final exams.

The pass percentage of those Section B students who passed in at least one of the two
exams (midterm and final) is

Ans 1.78.2
v 2785
3.78
4.79
Q.70 smyfas e ROl F SEd Ef i aed A A wh T Aaw
AT T4

Name the noble gas which is placed in the third period and eighth group of the Modern
Periodic Table.

Ang SfoTa

1.
Helium

For More details, visit : www.10pointer.com



et

o
Neon

Eic)
Argon

4
. Krypton

o7 Prafaf@T &7 & ¥ e R &1 =799 +:Y

W3

] ome] o= osi] ot

1 2 3 - S

Select the odd figure out of the following series.

e ome] fo=q o= ot

1 2 3 - S

Ans 1.2

2.5
v 4
4.1

Q.72 =y Rrelh g @1 ade aUUT F THAT & Hg I T A g, A FHH Ffafaa
UHT 497 :

If an object is placed at the centre of curvature of a concave mirror, then the image

formed will be:

e M 3R B IR @
virtual and diminished
v, TS HR FAE HER
real and of the same size

3mﬁmﬁ?ﬁ?maﬁr

real and enlarged

4mmaﬁta$3nma:r

virtual and enlarged

QB g XY F A mgm AN T g mI P da y &
BT X & &% T gy &1 X B er F e = g9 22

In the morning, X and Y walk towards each other in a park. When they meet, Y’s shadow
falls towards the left side of X. In which direction was X facing?

A
ns v 3cal
North

For More details, visit : www.10pointer.com



gfayor

%
South

5 =
East

, TR=H
West

O FEeR W 78 F d€ W B 2

On the banks of which river is Jabalpur situated?

1. SEE
Chambal

UHAT

2 2

Ans

Yamuna

, ST
Betwa
o 4 ;

Narmada

Q.75 e var vt 1 € arelr TS 18° 37T GA &, A SUT AN [Heie arelr g5 febctet f3aft
gHIM

If the hour hand of a clock moves by 18° then by how many degrees does the minute hand
move during the same time?

Ans 1. 168
2. 276

3.196

v 4 216

For More details, visit : www.10pointer.com
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